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MASTER OF ARTS (ECONOMICS) 
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MEC-004 : ECONOMICS OF GROWTH AND 
DEVELOPMENT 

Tinze : 3 hours 	 Maximum Marks : 100 

Note : Answer question from each section as directed. 

SECTION - A 

Answer any two questions from this section. 2x20=40 

1. Explain Joan Robinson's model of economic 
growth. What are its limitations ? 

2. Explain the concept of poverty. How is it 
measured ? 

3. Critically examine the Prebisch-Singer and Myrdal 
thesis of deteriorating terms of trade. 

4. What is the difference between exogenous growth 
model and endogenous growth model ? Briefly 
analyse the contribution of Romer to endogenous 
growth theory. 
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SECTION - B 

Answer any five questions from this section. 5x12=60 

5. Critically examine the Harrod-Domar model of 
economic growth. 

6. How do you decide on the viability of a 
development project ? Use the insights from 
Cost-Benefit analysis in your answer. 

7. What is meant by Total Factor Productivity 
(TFP) ? How do you measure it ? 

8. Explain the method of calculation of Human 
Development Index (HDI). How does In.dia rank 
in the above index ? 

9. Critically examine the Lewis model of economic 
development. How is it relevant today ? 

10. Explain the major reasons for market failure in 
an economy. 

11. Distinguish between the growth models of Solow 
and Phelps. 
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